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McKinnon Secondary College
	Student name ___________________________________________________

Teacher: M. Kelly


Year 11 Information Technology
Unit 1 Examination

Reading time: 15 minutes 
Writing time: 90 minutes

QUESTION AND ANSWER BOOK

Structure of book

	Section
	Number of questions
	Number of questions to be answered
	Number of marks

	A
	20
	20
	20

	B
	11
	11
	70

	
	
	
	Total 90


· Students are permitted to bring into the examination room: pens, pencils, highlighters, erasers, sharpeners and rulers.

· Students are NOT permitted to bring into the examination room: blank sheets of paper and/or white out liquid/tape.

· No calculator is allowed in this examination.

Materials supplied
· Question and answer book of 16 pages.

· Answer sheet for multiple-choice questions.

Instructions
1. Write your name on this question book and the answer sheet for multiple-choice questions are correct.

2. All written responses must be in English. 

At the end of the examination 
· Place the answer sheet for multiple-choice questions inside the front cover of this book. 

Students are NOT permitted to bring mobile phones and/or any other unauthorised electronic devices into the examination room. 

SECTION A - Multiple-choice questions

Instructions for Section A

Answer all questions in pencil on the answer sheet provided for multiple-choice questions. 

Choose the response that is correct or that best answers the question. 

A correct answer scores 1, an incorrect answer scores 0. 

Marks will not be deducted for incorrect answers.

No marks will be given if more than one answer is completed for any question. 
Question 1

The main purpose of the analysis phase of the problem solving methodology is to
A. Design the new system.
B. Find out what the new system should be able to achieve.
C. Test the old system and find what its faults are.
D. Produce the new system, including buying equipment and programming.
Question 2

Which of these is not a main reason for creating an information product?

A. To educate.
B. To inform.
C. To aggregate.
D. To persuade.
Question 3

Helena, a student, is looking for relevant data for an essay on kangaroos’ leaping abilities. Which of the following four pieces of data is the least relevant?

A. A textbook on kangaroo reproduction.
B. A film comparing the jumping of wallabies and kangaroos.
C. A scientific report on kangaroo jumping written in the 1950s.
D. A drawing of kangaroo leg muscles created by an American.
Question 4

A researcher wants to easily see rainfall trends over the past 5 years. Which is the best way of presenting this information?
	A.
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Question 5

What answer would this Excel formula produce?
= IF(8 + 6 * 4 / 2 = 20, “True”, “False”)

A. False
B. 20
C. True
D. An error message
Question 6

To be eligible to enter ‘The Aussie Adult Club’ a person has to be 21 or older, and be Australian. The club created a simple spreadsheet to help them decide on the eligibility of people applying for membership. They want a formula to show the word “Yes” in cell E5 if eligible data is put into cells E2 and E3.
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Which formula would be best to give this result?

A. =IF(E2>=21 AND E3=”Australian”, “Yes”, “No”)
B. =IF(AND(E2>=21,E3=”Australian”), Yes, No)
C. =IF(AND(E2>21,E3=”Australian”), “No”, “Yes”)
D. =IF(AND(E2>=21,E3=”Australian”), “Yes”, “No”)
Question 7

A document could be said to be accessible if
A. People with disabilities can read it easily.
B. It’s on the internet and can be easily downloaded.
C. It is written in plain, simple English.
D. It loads quickly.
Question 8

The best tool to plan which pages are required in a website would be
A. A screen mockup.
B. A site map.
C. Dreamweaver.
D. Photoshop.
Question 9

Data validation can
A. Detect inaccurate data
B. Detect data outside of an acceptable range.
C. Evaluate the success of a spreadsheet over time.
D. Determine if a spreadsheet’s answers are acceptable.
Question 10

It is true that
A. Formats and conventions are the same thing.
B. Conventions are required by law.
C. A convention has its own formats.
D. A format has its own conventions.
Question 11

Six months after a new network has been in use, a network engineer calculates the average speed of the network using performance figures from electronic network logs. The engineer was
A. Testing the effectiveness of the network.
B. Evaluating the effectiveness of the network.
C. Evaluating the efficiency of the network.
D. Testing the efficiency of the network.
Question 12

The main difference between a Peer-to-Peer LAN and a Client-Server LAN is that 
A. The Client-Server LAN has at least one client.
B. The Peer-to-Peer LAN is better if there are untrustworthy users
C. The Client-Server LAN has at least one server.
D. On a Client-Server LAN, the network operating system runs on Ethernet.
Question 13

Susie buys a router at a computer store. The speed of the router could be
A. 10/100/1000 Mbps
B. 10/100 MBps
C. Gigabyte
D. 33.6 Kbps
Question 14

The main difference between a LAN and a WAN is that
A. The WAN always has more computers than a LAN.
B.  The WAN uses TCP/IP and the LAN uses Ethernet.
C. The LAN does not cover as much area as a WAN.
D. The WAN uses CAT6 cable, but the LAN uses fibre optic.
Question 15

An effective backup strategy for a network would
A. Back up essential data as soon as possible after it’s been lost.
B. Be regular and tested.
C. Be very quick.
D. Always run reliable antivirus software.
Question 16

A stakeholder is
A. A land owner who is affected by an issue.
B. Someone who will benefit from an issue.
C. Someone who will be hurt by an issue.
D. Someone who is affected by an issue.
Question 17

Primary data 
A. Is collected by people other than the person who uses the data.
B. Is quicker and cheaper to collect than secondary data.
C. Is collected by the person using the data.
D. Comes before secondary data.
Question 18

A NIC
A. Connects a network cable to a computer.
B. Guides data packets across the internet.
C. Uses the TCP/IP protocol to protect a computer.
D. Stands for Network Interlace Card.
Question 19

The protocol that breaks files into data packets and reassembles packets into files is
A. DNS
B. IMAP
C. Ethernet
D. TCP
Question 20

The main difference between integer and floating point data types is
A. Integers don’t store decimal fractions.
B. Floating point doesn’t store decimal fractions.
C. Integer is uses more memory than than floating point.
D. Floating point retains its data if the power is turned off.
Section B – Short Answer questions
Instructions for Section B 

Answer all questions in the spaces provided.
Question 1 
Explain the possible effects of not properly carrying out the first phase of the problem solving methodology. 2 marks

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

Question 2
Michelle is designing a new website for her tie business.

a. What filename should she give to the opening page of the site? (1 mark) 

_________________________________________________________________________________

b. Explain why she should use this name (2 marks)
_________________________________________________________________________________

_________________________________________________________________________________

_________________________________________________________________________________

_________________________________________________________________________________

c. She plans to include the following pages in her finished site:

- homepage

- about us

- contact information

- new handmade ties

- second-hand ties

- fun handmade ties

- business handmade ties

- animal-themed second-hand ties

- music-themed second-hand ties

- science-themed second-hand ties

In the space below, use an appropriate design tool to represent the structure of the planned website. (5 marks)
	


d. Describe two conventions that Michelle should use when she develops her website. For each one, explain why it should be used. (4 marks)
i. Convention 1

_________________________________________________________________________________

Reason for use

_________________________________________________________________________________

_________________________________________________________________________________

ii. Convention 2

_________________________________________________________________________________

Reason for use

_________________________________________________________________________________

_________________________________________________________________________________

Question 3 

Bruno is developing a database and needs to store some data. For each of the following data, recommend an appropriate data type he should use. 3 marks. 

a. A surname (e.g. “Yamamoto”)

_________________________________________________________________________________

b. A year of birth (e.g. 2001)

_________________________________________________________________________________

c. A price of an item (e.g. 45.70)

_________________________________________________________________________________

Question 4 

a. You are researching the safety of cars built in Australia since 1990 for an article you are writing. Your research assistant brings you many documents from the internet, libraries, and car manufacturers. Give three reasons you would give to reject documents because they were not relevant. (3 marks)

Reason 1

_________________________________________________________________________________

_________________________________________________________________________________

Reason 2

_________________________________________________________________________________

_________________________________________________________________________________

Reason 3

_________________________________________________________________________________

_________________________________________________________________________________

b. For your article, you want to show how each of the main causes of car accidents contributed to 1990’s total death toll on the roads.  You collect the data and wonder how to present it.  In the space below, sketch a graphical method of giving this information to your readers as clearly as possible. (4 marks)

	


c. Some of your data comes from the Australian Transport Safety Bureau. It appears below:
	Traffic Deaths 2000

	State/territory
	Total deaths
	Deaths per 100,000 population

	ACT
	17
	5.8

	NSW
	603
	9.3

	VIC
	407
	8.5

	TAS
	43
	9.1

	SA
	166
	11.1

	WA
	213
	11.3

	NT
	51
	26.1

	QLD
	318
	8.9

	AUSTRALIA
	1819
	9.5


i. Describe one important conclusion that you can you draw from this data.  (4 marks)
_________________________________________________________________________________

_________________________________________________________________________________

_________________________________________________________________________________

_________________________________________________________________________________

_________________________________________________________________________________

Question 5 
You use a spreadsheet to enter the road death data.
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a. Circle the Excel control that was used to span the row 1 heading over 3 columns. (1 mark) 

b. What formula was used in B11? (1 mark)

_________________________________________________________________________________

c. Identify two formatting conventions used in this spreadsheet (2 marks)

Convention 1

_________________________________________________________________________________

Convention 2

_________________________________________________________________________________

d. What efficient formula might have been used in C11? (1 mark)

_________________________________________________________________________________

e. You want the spreadsheet to automatically use colour highlighting to show which states and territories are above the value in C11, and which are below that value.  Draw an arrow on the screenshot pointing to the control you would use to achieve this. (1 mark)
f. In column D, you want to put formulas that show the word “BAD” if that state or territory’s value in column C is more than double the value in C11.  What would the formula in D3 look like? (4 marks)

_________________________________________________________________________________

g. You notice the states and territories seem to be listed in random order.  Explain exactly what you would do to reorganise them into a more useful order.  (2 marks)

_________________________________________________________________________________

_________________________________________________________________________________

h. Explain how this new ordering improves the usefulness of the spreadsheet. (1 mark)
_________________________________________________________________________________

_________________________________________________________________________________

i. You are interested in finding out exactly how far from the Australian ‘Deaths per 100,000 population’ is each state/territory’s value in column C. You put a formula into D3 and find that the ACT is 3.7 less than the country’s figure.
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You use autofill to copy that formula down into D4 to D11 but the answers are obviously wrong. Explain how the problem could be fixed.  (2 marks)
_________________________________________________________________________________

_________________________________________________________________________________

_________________________________________________________________________________

_________________________________________________________________________________

j. Describe a testing method you might have used to determine the accuracy of the value in D3 and the inaccuracy of the other figures. (1 mark)

_________________________________________________________________________________

_________________________________________________________________________________

Question 6
Jerome, a programmer, is setting up his small software company in a new office in the suburbs of Melbourne. He has 2 employees. They are all good at software, but not so knowledgeable about hardware. They have a total of 3 desktop PCs, and two notebook computers to use when visiting clients. He does not yet have a printer. They each have an iPad. They frequently work together on the same programs, and are forever sending and receiving messages to and from clients and co-workers.  Jerome’s business is not yet generating much income, but he wants to get a reputation for creative, quality work and good customer service so he can compete for business with other software companies.
a. Give three good reasons for Jerome to set up a local area network. (3 marks)

Reason 1

_________________________________________________________________________________

_________________________________________________________________________________

Reason 2

_________________________________________________________________________________

_________________________________________________________________________________

Reason 3

_________________________________________________________________________________

_________________________________________________________________________________

b. Jerome visits whirlpool.org to see which internet service providers (ISPs) can service his office. He finds several ISPs, and can choose from dialup, ADSL, ADSL2+, cable and satellite internet connection. Recommend a connection type for Jerome and justify your choice. (3 marks)
Connection type   _____________________________________________________________

Justification

_________________________________________________________________________________

_________________________________________________________________________________

_________________________________________________________________________________

c. Jerome often needs to print colourful user manuals with high quality images.  Recommend what sort of printer he would need, and explain one good way for the workers to share it. (1+2=3 marks)

Printer type: ____________________________________________________________________

How it can be shared: _________________________________________________________________________________

_________________________________________________________________________________

_________________________________________________________________________________

d. Jerome and his workers currently save their files on their own computers, but this causes problems when someone is absent and other workers need access to their files. Suggest an effective and easy way for them to store and share their files. (2 marks)

_________________________________________________________________________________

_________________________________________________________________________________

_________________________________________________________________________________

_________________________________________________________________________________

e. Name the type of topology that this LAN should use. (1 mark)

_______________________________________________________________________________

f. In the space below, draw a network diagram showing: (8 marks)
· the internet connection

· the desktop computers

· the laptop computers

· the printer you recommended above

· the other components of Jerome’s LAN, including their speeds and sizes (where appropriate). Note: if several components are in the same ‘box’, be sure to identify them.
· the wired and wireless connections between components, including types of cables

	


g. Jerome wants to get in a security expert to give himself and his staff a briefing on protecting against and recovering from accidental and deliberate data loss.  The expert emails Jerome a list of topics he plans to cover.  For each topic, explain why it’s important. (4 x 1 mark)
(i) Uninterruptible power supplies (UPS)

_________________________________________________________________________________

_________________________________________________________________________________

(ii) Using strong passwords

_________________________________________________________________________________

_________________________________________________________________________________
(iii) WAP encryption

_________________________________________________________________________________

_________________________________________________________________________________
(iv) Responding to phishing attempts

_________________________________________________________________________________

_________________________________________________________________________________

h. During his visit, Jerome asks the security expert to suggest a good data backup scheme.  What are the three main features of the scheme that the expert would recommend?  (2 marks)
Feature 1 

_________________________________________________________________________________

_________________________________________________________________________________

Feature 2

_________________________________________________________________________________

_________________________________________________________________________________

Feature 3

_________________________________________________________________________________

_________________________________________________________________________________
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